
Algebra 2

Factoring trinomials

Factor each completely.

1) +2n-48

- 3) 15x+50

( K-to)lxs)

5) k: -2k-35

7) n2 -2n-8

9) k2 -k-56

II) 2 +21x+54

13 3 +22n+7

( n YD(nY2D

Name

4) a2 + 20

6) +b-90

- 8) 13x+36

10) n2 + 6n -27

10€
11108 12 -23x+45

ats H

q t 12-
5 2 +22x+14) 



15) 3x2一28x 一20

一28x一0

( ㄚ一 0 )

( 3K彐 D

| 7) 3x2 + 1一 56

19) 2x: 一9x 一5

21 ) 2" : 一30” + 108

- ISn s

a(n-c)(nq)

23) 2r 8ㄕ一64r

1110 t)

log

2

3

20) 5x2一41x + 8

22) 2 + 30k + 4

(卄 K + )
10

24) 4v3十8 、,2一320v


